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 Circle and answer. Write the words in the correct order.

0 Whose gloves is it / are they ? They’re his.  (sih) 
1 Whose torch is it / are they?   (serh)
2 Whose compass is it / are they?   (iemn)
3 Whose trainers is it / are they?   (sour)
4 Whose laptops is it / are they?   (serhit)
5 Whose tie is it / are they?   (meni)

Score:   / 5

 Circle and answer. Write the words in the correct order.1

 Choose and write. Use have to, don’t have to, has to or doesn’t have to.

 arrive  leave  start  fi nd  bring  fi nish
0 Please come to school early. We have to start  the lesson at 8 o’clock.
1 You   the house early this morning. You can stay at home.
2 He   his homework today. Tomorrow is Sunday.
3 We need our car in the morning. We   at the garage at 9 o’clock.
4 I’ve got a compass. You   one.
5 I   my luggage. My laptop is in there!

Score:   / 5

 Choose and write. Use 2

 Complete with your own ideas.

0 I’m going to the post offi ce to send a parcel  .
1 I’m going to the bank   .
2 I’m going to the train station   .
3 I’m going to my bedroom   .
4 I’m going to the toy shop   .
5 I’m going to the library   .

Score:   / 5

 Complete with your own ideas.3

 Correct the sentences.

0 Her dress is more short than mine. Her dress is shorter than mine.
1 My binoculars are newer of his.  
2 Our van is dirtyer than theirs.  
3 Are you more tall than your sister?  
4 Her toy helicopter was oldest than his.  
5 My dad’s car is fast than my mum’s.  

Score:   / 5

 Correct the sentences.4
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 Write sentences.

0 motorbike new/scooter old
 The motorbike is newer than the scooter. The scooter is older than the motorbike.  
1 van clean/car dirty
  
2 ambulance small/fi re engine big
  
3 plane fast/helicopter slow
  
4 Sarah young/Jill old
  
5 Bill happy/Harry sad
  

Score:   / 5

 Write sentences.5

 Complete the chart.

0 silly sillier  the silliest  
1 clever    
2 funny    
3 lazy    
4 noisy    
5 heavy    

Score:   / 10

 Complete the chart.6

 Look and complete the sentences. 

Price Beauty

Jane’s jacket £ 45 

Rosie’s jacket £ 99 

Olive’s jacket £ 165 

0 Rosie’s jacket is more expensive than  Jane’s. (expensive) 
1 Rosie’s jacket is   Olive’s. (cheap)
2 Jane’s jacket is   . (cheap)
3 Olive’s jacket is   . (expensive)
4 Jane’s jacket is   Rosie’s. (beautiful)
5 Olive’s jacket is   . (beautiful)

Score:   / 5

Score:   / 40

 Look and complete the sentences. 7


